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Frgc s (Thiodicarb) B 2 5 »cs 2 #2218 1 2R %

- REREEFEOERY
# 3 #AE ¢ mrjose (CIPAC No. 543)

v 8 LA 3,7,9,13-Tetramethyl-5,11-dioxa-2,8,14-trithia-4,7,9,12-tetra-azapentadeca-

3,12-diene-6,10-dione (IUPAC).1-(methylthio) ethylidene] azanyl 2,4,8-

trimethyl-5-0x0-6-0xa-3,9-dithia-2,4,7-triazadec-7-enocate (CA; 59669-26-
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ok 172.6°C
# # % 2.7 mPa (25°C)
FH %A 147 glem® (20 - 25°C)
% ﬁ'*)i 'k 22.2mg/L ~ 3 A 5.33g/L~ = & ¥ ¥= 200-300 g/L ~ ¢ A 0.97 g/L ~
2 ﬁ;:b fia 1.79¢g/L~ &+ & %% 0.32g/L~ * ¥ 0.92¢g/L (325 20-25°C) -
FEfrokfELEE 1691 % (pH5)~308 % (pH 7)~0.26 = (pH9) (325
25°C) o k¥ kAL %8 9= (pHE) -
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ERNE T N X I
PRI G
L el f A2 2 » WL T R A 2 RRA Y oo A2 w2 2§

AT e
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21114 1% ¢ % ¢ k4 I E (Ultraviolet detector » f§ £ UV) ©
2112 K+rgH HAp K47 ¢ 41 0 4.6 mmx 250 mm (ID x L) » Thermo Scientific
Hyperil BDS C18 » S5um > £ 4p % % % -
2124 % ARTES ¥ 40~50KHZ) » =T B -
223 % ¢
221 % 5 gigcs (Thiodicarb) » @ B S22 A7 R* RE 5 o
2.2.2 ¥ 7 = (Acetonitrile) HPLC &% A& °
2.2.3 7 f% (Methanol) HPLC &% #| -
2.2.4 % 33k (18.0 MQ.em ™2+ > %5 0.22 um R i k) ©
23 F 52 H# -
2.3.1 = &% 10 mL ~ 50 mL ~ 100 mL -
232 %R -
2.3.30.22 pm M-k #F 5 5 (Hydrophilic polypropylene):& /g % -
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2.4 p7 75 #& 2 ;% (Standard stock solution) fie %] :
FEB- F R 25+5mg (a4 0.lmg) @ B R AT R RE L B
50 mL ZRALY o e r 45 mL TR AR AIRT I R 2BEE (9 5 A
d8)> w3 FE NP wBEF LA 0 5 500 pg/mL BT RER -
2.5 1% # # € 4 (Standard calibration curve) # i€ :
P~ 10-~20-~3.0~40~50mL 2 500 ug/mL Frgc s b7 5 8% > A W E 3 10
mLEEF? > NP EEFI AR &7 50100~ 150 ~ 200 ~ 250 ug/mL 2
Fr e s 4k (T4 2% (Working standard solution) » & # (£ 452 % 12 0.22 um BL-k {2
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1. %/ (Thiodicarb) B #5 sa Atk > 2 o (rcfa P ¥4 B € 87 & 127 3 p 87
BHcE % 87020766 8.2 2 o

2.BCPC Online Pesticide Manual. http://pmonline.azurewebsites.net/ Main/Pesticide.aspx
(#2~p &  2020/06/24)
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2.pelpT s iR ik (STD A) 2 iz A 121k Fi% (STD B) 2 i & > H =P £ 5+ ¢
25mg: ® = —’ﬁi#p;ﬁz’_)@z <3 02mge B AR RRAAE KIRT FPEL2 RE
o e T AR 2 el o

JhTgrpE  EAF R L~ FIFEER (STDA3) Ha - i » 12 R &
Fl b E o R A 98~102% 2 F o (RBTFIF = XM e [ kR)

AR A L APRER (STD B-3) » H &7 % W el 4k (4R 8% (STD A-
iz » LB RT3 v iE > A3 98~102% 2 [F -

5.8 s F)F 0t @ F 4] ¢ 4k (TR (STD A-3) & & #7453k i% (STD B-3) i » #1182
e F]F 8 % AT R iRk (T % (STD A-3) 2 x 12 v il 43t 98 ~ 102% 2
B FALN R RUBERT » 247 -
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QOFFRREEH (A2 FFHRER - APHRERI KR ERELREFTFR
PRk T ERRE  1AT R F G PR AR > B L 42 98~ 102% 2 B -

105 B SR 3 €45 0 4178 % PR £ (RSD, *r coefficient of variance)
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RSDR = 20105109039 = 2 35

RSDr=2.35x% 0.67 = 1.58
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